
Unit 3 Test tomorrow!

Your homework this week is digital - Quizizz 

You need to sign up for the Remind

Text 81010 and the subject should say @nicforr1

If you for some reason do not have a phone, I have a 
hard copy but you only get one. 



               
Think positive thoughts….but also read ALLLLLL the directions!

                       


 

                    

   

 

 

   

   

 

  

  


       

       

      

        

        

  
   
  
    
 
   



                  
𝒇(𝒙) = 𝟏𝟒𝟓𝒙 + 𝟏𝟗𝟐         

               

                  

               

                  

  𝑓(𝑥) = −10𝑥 − 9      𝑎𝑛𝑑      𝑗(𝑥) = 7𝑥 + 4   

          –    – 

         
       

           

        



        
     

     

        

                

                       
       

𝑥 → −∞,   𝑦 →

𝑥 → ∞,    𝑦 →

𝑥 → −∞,   𝑦 →

𝑥 → ∞,    𝑦 →

𝑥 → −∞,   𝑦 →

𝑥 → ∞,    𝑦 →

𝑥 → −∞,   𝑦 →

𝑥 → ∞,    𝑦 →


